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-------- Histogram Vars

Positive Hel (ON): 10.079024 +/- 0.003102
Negative Hel (ON): 10.176904 +/- 0.003168
Positive Hel (OFF): 0.000000 +/- 0.000000
Negative Hel (OFF): 0.000000 +/- 0.000000
-------- Sums and Diffs

On Diff: -0.097880 +/- 0.002479

Off Diff: 0.000000 +/- 0.000000
On Sum: 20.255928 +/- 0.005759

Off Sum: 0.000000 +/- 0.000000
-------- Asymmetries
On Asym: -4.832187 +/- -0.122380 (ppt)
Off Asym: 0.000000 +/- nan (ppt)

-------- Bkgd Subtraction

BkSub Sum: 20.255928 +/- 0.005759
BkSub Asym: -4.832187 +/- nan (ppt)
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Run 4502 quartetwise, posHO vs time
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Run 4502 quartetwise, asymQ0sub vs time
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Run 4502 quartetwise, negHO vs time
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